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SBI PO Preliminary Grand Test —SPP-180545
HINTS & SOLUTIONS

ANSWER KEY

1.(3) 21. (5) 41.(4) 61. (4) 81.(2)

2.(1) 22.(3) 42.(2) 62. (4) 82. (1)

3. (4) 23.(2) 43.(5) 63. (4) 83. (4)

4.(4) 24. (3) 44.(3) 64. (5) 84. (2)

5. (3) 25. (1) 45.(2) 65. (4) 85. (1)

6. (1) 26. (4) 46.(1) 66. (4) 86. (5)

7.(2) 27.(5) 47.(2) 67. (3) 87.(2)

8.(2) 28. (1) 48. (5) 68. (5) 88. (1)

9.(2) 29. (4) 49. (4) 69. (4) 89. (4)

10. (3) 30. (1) 50. (3) 70. (5) 90. (1)

11. (4) 31. (4) 51. (3) 710(3) 91 (1)

12. (1) 32.(3) 52. (1) 72.(4) 92. (3)

13.(2) 33. (5) 53.(2) 73.(3) 93.(3)

14. (3) 34.(1) 54. (1) 74. (4) 94. (5)

15. (3) 35.(2) 55. (1) 75. (5) 95. (5)

16. (3) 36. (1) 56. (5) 76. (5) 96. (3)

17. (1) 37.(2) 57.(1) 77.(2) 97.(1)

18. (3) 38. (4) 58. (5) 78. (5) 98. (4)

19. (2) 39. (1) 59. (2) 79. (4) 99.(3)

20. (1) 40. (2) 60. (2) 80.(4) | '100.(4)

HINTS & SOLUTIONS

Refer to opening lines of the first paragraph, “From'2003
to 2007, Asian economies expanded at an average
annual rate of 8.1% triple that of advanced economies.”
Refer to paragraph 2, “Policymakers and central bankers
are forced to raise interest rates and limit credit to get'in
¥ ation under control.”

4.(4) 5.(3)

7.(2)

9.(2) 10.(3)
Replace ‘have’ with ‘had’.
Rewrite the part as ‘Hardly did | step’. (Rule of inversion
—auxiliary verb will come before the subject)
Replace ‘such’ with ‘so’. (so higher that)
Replace ‘what’ with ‘that’. (After anything everything
etc. only ‘that’ can be used as relative pronoun)
Remove ‘not’ (because of ‘until’)
Replace ‘has’ with ‘had’.
Use ‘a’ before ‘rainy day’.
Remove ‘the’ before ‘greater’.
Replace ‘were’ with ‘was’. (The noun coming before
‘along with’ is the subject of the sentence).
Remove ‘of (consist of = comprise).

22.(3)

24.(3)

27.(5)

29.(4)

31.(4)
33.(5)

36.(1)

B
A 12 days C
10 days 15 days

Total Mark = 60 units
First 2 day’swork=2 (6 + 5 + 4) = 30 units
Last 3 day’sworkdoneby Conly=3x4=12

Remainingwork=60-30-12 =18 units

Now, it is done by Band C only
Time taken = % = 2days
Total days=2 + 3 + 2 =7 days
MDD, _ MyD,

W, W
45%200 _ Mzx150

4. 75

i, EXIOXTE o
27 150%x 45

Extramen= 100-45=55Men

Let the distance of the place be x km

Up stream speed =5 -1.5=3.5km/hr

Down stream speed =5 + 1.5 =6.5 km/hr

% X

N

2.9 .63 1

13x+0.7x _
455

2x =455

x = 2.275

required Average=

45X36+32—-34+45-40

— =36.07kg

cost of 8 kg apples + 8 dozens of mangoes + 8 kg of oranges
=Zx8+22x8+x8

— 720+ 2880 + 480
=4080Rs

Average monthly income of Aditi = éx 161100 =326850

~ Required difference = 44000 — 26850 = Rs. 17150
Total Monthly Salary of Piyush, Richali and Krishna
together in 2016 = Rs. 97200
Required percentage = 31000 x100=32%
97200
(24500 +40200)x12 647
T (31800+19200)x12 510
Monthly salary of Piyush and Krishna
=31800 +27900 = 59700

Monthly salary of Adity and Raksha
=29300 + 44000 = 73300

Required ratio

600

~ Required percentage = 13 x100 = 19% less.
73300
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45, (2) 20% of amount left after donation
=1x > % 44000
577100
=Rs. 8360
5 3
=~ C.lI. after 3 years =8360 [(1 + E) - 1]
=8360x= 0.1576

55. (1)
X2 =54:55
16
810-450

X 100 =80%
450
~ 673

18x8000 ., 9 . 33x8000
100 16 100

Required ratio =

Required percentage =

750+597.33
Average = ———

Required % =222 x 100 = 76.2% ~ 76%

Difference = 825 —-750 =75

448 + 28 x5=16x5=80

1680+ 15%x5=112 x5 =560

5238 —6630 + 7154 —2205 =12392 — 8835
=3557 =~ 3558

460x850 5 665x 6284 - 1486

=3910—1486 +2.66 x 6284 ~ 19140
(9321 +5406 + 1001) + (498 + 929 + 660)
=15728 + 2087 ~ 7.5.

4. MACEKE

by
(D

71.(3) 72.(4)
73.(3) 74.(4) 75.(5)
76-80. The word and number rearrangement machine
rearranges one word and one number in each step from
left to right end. It rearranges words in an alphabetical
order, and numbers in such a way that if the number of
alphabets present in word is even ,the number is equal
to that number of alphabets which comes along with
word and if the number of alphabets is odd, the number
is square of total number of alphabets present which
comes along with word.
For the given Input:-
Input: bus 9 a joints rose 1 6 4 toe 49 9 princes
managements 121 tight 25
Step I: a:1 bus 9 joints rose 6 4 toe 49 9 princes
managements 121 tight 25
Step~H: a 1 bus 9 joints 6 rose 4 toe 49 9 princes
managements 121 tight 25
Step Ill:.@ 1 bus 9 joints 6 managements 121 rose 4 toe
499 princes tight 25
Step‘lV: a1 bus 9 joints 6 managements 121 princes 49
rose 4'toe 9 tight 25
Step V:a 1 bus 9 joints 6 managements 121 princes 49
rose 4 tight 25 toe 9
77.(2)
79.(4) 80. (4)
A(-) H(+) A(-)=—=H(+)

B(-)—C(+)=—=F(-) OR  B(-)—cC(+)
G(-)/D(|+) E(+) Gl(-) D(I+)
82. (1)
84.(2) Eldest—BCDAE
Eldest—-BCDAE
V<S<L<]
V < L(True) S<](True)
M<R<]J<H
M < H(False) R<H(True)
H=F=G>M
H>M(True) H>G(False)
R<]>T=L
R = T(False)
W=T=K>F
W = K(True) W=K(False)

J=L(False)
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91 -95. H D (South)

(Canada) C (Brazil)

G (ltaly)

B E (India)

(Denmark)
A (Japan)

92.(3)
94. (5)
97.(1)
99, (3)




